{EFAJFC 2014RTY2 5 hvy7 1BE (Fmeessa22E

SELEDER _

AT Oys| wmEsSD | B3iEFC| TOVET lmmrc 7] BiA | B85 | kA |Bxa| B
#ESSD 1—4 | 5=3 | 1=7 3 7 14 | =7 3
ZFHMFC| 4—1 6—0 | 0—5 6 10 6 4 2
fomes | 3—5 | o-6 o-6 | o 3 | 17 | —1a]| a
mwrc'72i] 7—1 | 5—0 | 6—0 9 18 1 17 1
BIAvY| MESC | simasc |V asesy| R | B | K8 | BER]| B
INESC 2-0 | 2-0 | 1-9 6 5 9 —4 2
smwasc| 0—2 o—2 | o-10| o 0 14 | —14| 4
SWEERX 0—2 | 2-0 0—9 3 2 11 -9 3
as#soy] 9—1 | 10—0 | 9-0 9 28 1 27 1
convs| EmIFC| mmTsc| KiESC | PN | A | @& | &R | BEA| IEL
tEFBJFC 0—2 | 1-6 | 1—1 1 2 9 —7 4
m@rsc| 2—0 1—-1 | 4-0 7 7 1 2
xiEsc | 6—1 | 1—1 3—1 7 10 3 1
ARTAZL 1—1 | 0—4 | 1-3 1 2 s | -6 | 3
SELDER _

DIavy| MESC |[mwrc vz TOIET | AEIN| s | g | ks | Bss] ER
INESC 2—1 | 4-0 | 6—1 9 12 2 10 1
BHBFC 72i] 1—2 1—1 5-0 4 7 3 4 2
JomEE | o—a | 1-1 3—1 | 4 4 6 | —2| 3
ABTIZ 1—6 | 0-5 | 1-3 0 2 14 | —12| a4
EJ Oy |rrrrmarc VTR x@Fc | mmEsc| BiA | B85 | £A |BKs| B
ST HER] 0—2 | 1—0 | 0—1 3 1 3 -2 | s
SWRARERL 20 4—0 | 4—1 9 10 1 9 1
xEFc | 0—1 | 0—4 1-4 0 1 9 -8 | 4
mg7sc| 1—0 | 1—4 | 4—1 6 6 5 1
F7Ou)| EMAJFC |IstmrL7 KIESC |SHMFC| BR | R | &R | /LS| B
tEFBJFC 0—5 | 1—-6 | 0—8 0 1 19 | —18| 4
17y 5—0 2—-3 | 1-3 3 8 2 3
xiEsc | 6—1 | 3-2 0—4 6 9 2 2
g##M@FC| 8—0 | 3—1 | 4—0 9 15 | 19 | 14 1




{£EFAJFC 2014RX )25 hyT 2BHE (Emeesspzsn)
SELEDER

ATOYY [smro veirlhmiss| Fmee | nmrec | BE | @A | £& |B%a| E
eRLN o-8 | 3—1 | 1-3 | 3 4 12 | -8 | 3
eee | 8—o0 5—0 | 5-0 ) 18 0 18 1
e | 1-3 | o-5 0—1 0 1 —8 | 4
izl 3—=1 | o-5 | 1-0 6 4 6 | —2 | 2
BIOYY| Shme | aise | mmesd |nemex| BA | 88 | & |B%s| B
i) 3—1 | 11—0 | 2—1 9 16 2 14 1
| 1-3 5—1 | 3—1 | o 9 5 4 2
g lo=11| 1-5 0—3 0 1 19 | —18| 4
jnemex| 1—2 | 1-=3 | 3-0 3 5 5 0 3
CIOYI| mnse |smherin | smaso | nmre | BE | 88 | 28 |8%a| Ex
Ao 3—0 | 1-0 | 3-0 9 7 0 7 1
wamrins-| 0—3 1-1 | 1-0 | a4 2 4 | —2 | 3
smase | 0—1 | 1—1 2—0 4 3 2 1 2
wmnc | 0=3 | 0o—1 | o0-2 0 0 6 —6 4
S5EA N ER
pTavs| Paed L] S | Giee | B | @& | & [#ax]| B
nEse 1—-0 | 2—4 | 2—2 | a4 5 6 | —1 3
ez | 0—1 2—2 | 3—0 | 4 5 3 2 2
samre | 4—2 | 2—2 2—0 | 7 8 4 4 1
e | 2—2 | 0-3 | 0-2 1 2 7 —5 | 4
ETOYY | mmrac |surs vop| mmes | namns | BA | 8a | &5 |#%s| E®
e 0-0 | 2—-3 | 1—1 2 3 4 —1 3
somaas| 0—0 o—4 | o—0o | 2 0 4 | -4 | a4
v | 3=2 | 4-o0 0—4 6 7 6 1 1
w2 | 1-1 | 0o—0 | 4—o0 5 5 1 4 2
FIav5 |5 g | mmnec | smec | wmoc | B2 | #58 | &= [#es| e
. 2—1 | 5—1 | 6—0 | 9 | 13 | =2 11 1
aenec | 12 3—1 | 2—o0 6 6 3 3 2
sz | 1-5 | 1-3 1—2 0 3 10 | =7 4
proec | 0—6 | 0—2 | 2-1 3 2 9 —7 3




{EFJFC 2014RTY) T hvTJiAE&BE 1HEB (FR26%£3H22H)
=¥ S, = () |24 5, =y () |24 Pt =) () |24 S, T (2 4)
9:10 BIRAEDF—LDOHTTVFATHE
030 |a& [ 1T BF \pmam | g | [FEF 076 B g am) sk | w20 s mwem s | 070 TR pmg s
E2REDF—LDHTTIVFATHES
10:25 |34 |15 0—2 HEEF| MEGHE)|34F| KiE 3—1 AE|HESH GF)| 54 | /INE 2—1 S [HKREQGHE)| 54 |[HEF 3—1 FHE IHEGHE)
EIREDF—LDAHTTIVFATHES
11:20 |5% | #% 0—2 FE|R\F6H)|5% | XE 1-4 R\ ABGH |5 | A 0—5 TIxB| e 6H 58 |8 07 EF | gges
12:00 |34 | #mwA0—10TI#E WEGHE) |34 | IE 2—0 WE| KEGH) |34 | £#M 0-5 BW| KM GE) |34 | WEH -5 W@ | ZHMEGE)
12:40 |5 | T 470 BB lnpam)| sk | BB 0-5 BR| mEEGH |a%| REF4—0 AE (53| 3% | KA 1-6 K| BESGEE)
13:20 |54 | %M 1—6 KAi&| NEGE) |54 | IH#B1-32#M| B8 6% |54 | HE 1-0 ABEET GF)\ 54| B 4—1 HEF EAGH
14:.00 |3 | #E 1—7 S| KIEGE) | 3F | £#M 6—0 HEF|IHE GE)| 34EF | INE 1-9 IHEB| HE(GE) | 3F | #WE0—2 BE | HEFGH)
14:40 |3F | &R 1—1 ZBE| W QGH) |3F | XiE 1—1 RESAMGHE)|5E| &% 1—1 #EY NEGHF) |5F| /IMNE 6—1 AE| MWEGH
15:20 | 5% | #E 0—1 HEF| BEGHE) |5F | ik 4—0 KEB| XEGHE) |5F | A 0—8 LHMWEEF (5%) 54 | IHE 2—3 Kif| AE (5F)

* SRS M 159 —397—15%9 (B THELLET,)
* BE|TFEEDHAEL., BIFBICOVTIEHEROF—LDEEELET,




{EFHJFC 2014RTY T hyT7HREBE 2HEH (ERK264£3H230)
S > B =3 P > B =3 P > B =3 P > B =¥
9:10 F1IREDF—LDODATSHIRFANTHEE
3i—3 — A—4 |A—1(3%) B—4 — C—4 c—1(3%F) 2fii—2 — 2{[—3|3ML—3(5%) 3fi—1 — 3fi—2 E—4(5%)
930 |3% |smE 3—0 mEE| = |[SF|#wms 2-o0 #@| Xk |3F|z#m 3—1 ne| HE |SF| mE 0-3 iz NE
F2REDF—LDODATSHRNTHEHE
A—1 — B—1 |[3#f—3(3%) C—1 — 2{i—1 |B—4(3%) 3fi—3 — D—4 |26i—2(3%F) E—4 — F—4 3f—1(3%F)
10:25 |3% | mm o—8 I#E| EE |[3F |xig 0o—1 mEF| #ws |(5F| sz 2—-1 @8 | 2#8 |5F| xB 1-268 #40FH
EIREDF—LDATSHORANTHEE
W—2 — 2i—3 | B—10&) 3—1 — 3fu—2 [2—1 0% D—1 — E—1 | D-4G&) F—1 — 2fu—1 F—4 (5%)
11:20 |5% | mgm? o-0 &m® | I#B& |[5F |@WESH o—a4 1| ®EF |5F| Nz 1-omx | B |°F |24 2-0 Xxi& R
2pi—2 — 3fI—1 | 26i—2(5%) 2pi—3 — 3fi—2 | 3hi—2(5%) A—4 — C—4 E—1(5%) 3i—3 — B—4 F—1(54)
12:.00 |35 | g3#m11—0 mm| =REF |3F | e 3—1 fEx | TI#8 |3F |wEH 1-0 #£A| mxE |[3F |&EE 1-0 #we % 310
D—4 — F—4 |[3ti—13%) 3i—3 — E—4 |3i—2(3%F) B—1 — 2{ii—1 | C—4(3%) A—1 — C—1 B—4(3%)
1240 | 5% | @E 2—0 #£M wE [ 5F | gm 5—1 kB e |3F |a#8 5-0 mE| #m |[3F| Bm 3-1 k& HKE
E—1 — 2—1 |F—4(55) D—1 — F—1 | E-40&) M—3 — 3fu—2 |2—1G&E) M—2 — 3fi—1| C—1G&)
13:20 | 5% | = 3-0 Xxi& ER  |F e 2-4 23| xBE |9F |@W o-o0 TIHE| EETF |F |mgro-3 HEH xis
A—4 — B—4 |2fi—1(5%) 3{i—3 — C—4 |D—1(5%) 2{i—3 — 3fu—1|26—3(5%) 2ii—2 — 3Hi—2 3—1 (54)
1400 |3%F |mEEH1—1 #wa| *E |3F| B 3-0 £A Ne  |3F | hE 5—1 @M@ BB |3F |2#m 2—1 WmE HE
B—1 — C—1 [A—4(3%F) 3fii—3 — F—4 [3ti—3(3%) A—1 — 2{i—1 |261—3(3%) D—4 — E—4 2—2(3%5)
1440 |3% ;158 5-0 K| WEH [5F| = e—0 @M | AB |3F @ 1-3 mE¥| 4% [F| @E -1 xE 2
E—1 — F—1 B—1(3%) 2fif—2 — 3fi—2[3—3(5%F) D—1 — 2fi—1 |A—1(3%) 26ii—3 — 3{ii—1|D—4 (5% ‘8
15:20 | 5% | mxo—2s#m | I#8 [5F | mm3i—1Ine | #HE |5F| iz 2-2 k& | BR [OF |E® o—1 WES =
* SN HE: 159 —397—15% (BEESFCcHRELLET,)

* BHIEIEBEDOHEL, BIFITOVWTIEIMEFDF—LDHEEELLET,




